

Pay Estimate Created Date: August 16, 2024

Progress Estimate 3	Number	Contract ID Prime Contrac	230915-B05 tor W. L. Miller Com	ipany	Pay Period Start Pay Period End	August 2, 2024 August 15, 2024		\$1,073,508.62 \$0.00 \$1,073,508.62					
Approval Date								By User					
August 16, 2024			Generated a	nd App	proved (and should b	e considered Dra	aft) at the Project Office Level by	mcclab					
August 16, 2024		Reviewed and Approved (and should be considered Draft) at the Resident Engineer Level by baxt											
August 19, 2024		Reviewed and Approved at the Central Office Controllers Office Level by											
Original Completion Date Current Completion Date Actual Completion Date % of Current Contract Amour													
September 1, 2	024	Septer	nber 1, 2024				80.70%						
	Contract	Informational Dat	es		Milesto	nes							
Date Description	Original	Completion Date	Current Completion	n Date	No Milestones Exi	st for Contract							
Acceptance Date													
Awarded Date	October 1	2, 2023	October 12, 2023										
Letting Date	Septembe	er 15, 2023	September 15, 2023										
Notice to Proceed Date	Novembe	r 6, 2023	November 6, 2023										
Open to Traffic Date													
Work Began Date													

Contract Total Pay For	r Estimate No. 3				
		This Estimate	Previous	To Date	
230915-B05					
	Total Posted Items Pay	\$680,238.58	\$186,058.54	\$866,297.12	
	Gross Item Adjustments	\$2,987.19	(\$4,987.19)	(\$2,000.00)	
	Incentive	\$0.00	\$0.00	\$0.00	
	Disincentive	\$0.00	\$0.00	\$0.00	
	Liquidated Damage	\$0.00	\$0.00	\$0.00	
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00	
			<mark>\$181,071.35</mark>	\$864,297.12	
Contract Total Payable	e This Estimate:	\$683,225.77			

Contract Total Payable This Estimate: Items Paid This Estimate Period

Project Number	Line Number	ltem Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount	
JNE0014	0010	4091048	EMULSIFIED ASPHALT, SEAL COAT	GAL	\$3.150	89,127.4	\$280,751.31	
	0020	4094012	SEAL COAT AGGREGATE, GRADE B2	SQYD	\$1.070	318,322	\$340,604.54	
	0040	6161005	CONSTRUCTION SIGNS	SQFT	\$7.150	881.5	\$6,302.73	
	0060	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	EA	\$4,290.000	2	\$8,580.00	
	0070	6181000	MOBILIZATION	LS	\$44,000.000	1	\$44,000.00	
Project JN	NE0014 - 1	Fotal					\$680,238.58	
Overall - Total								

Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract Line Item Adjustments This Estimate

Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
JNE0014	0010	EMULSIFIED ASPHALT, SEAL COAT	Material			-89,127.4	\$3.15	(\$280,751.31)
	0010	EMULSIFIED ASPHALT, SEAL COAT	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0003) due to user mcclab overridding Payment Estimate Exception 1 on the current Payment Estimate.	89,127.4	\$3.15	\$280,751.31
	0020	SEAL COAT AGGREGATE, GRADE B2	Material			-318,322	\$1.07	(\$340,604.54)
	0020	SEAL COAT AGGREGATE, GRADE B2	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0004) due to user mcclab	318,322	\$1.07	\$340,604.54

Pay Estimate Created Date: August 16, 2024

Progr	ress Es	timate Number 3	Contract II Prime Con		15-B05 Miller Company	Pay Period Start Pay Period End	August 2, 2024 August 15, 2024	Net Cha	I Contract A ange Order A t Contract Ar	mount	\$1,073,508.62 \$0.00 \$1,073,508.62
Project Number	Line No.	Item Descrip	otion	Adjustment Type	Other Item Adjustment Type	C	Comments		Adjustment Quantity	Line Item Adjustmen Unit Price	
JNE0014						overridding Payme the	ent Estimate Excep current Payment E				
	0040	CONSTRUCTI	ON SIGNS	Material					-881.5	\$7.15	5 (\$6,302.72
	0040	CONSTRUCTI	ON SIGNS	Material		generated Mate Adjustmen overridding Payme	offsets the original erial Payment Estim t (0005) due to use ent Estimate Excep e current Payment E	ate Item r mcclab tion 4 on	881.5	\$7.15	\$6,302.72
	0060	COMMU INTERFACE, CON FURNISHED, CON	WITHOUT NICATION TRACTOR	Material					-2	\$4,290.00) (\$8,580.00)
	0060	COMMU INTERFACE, CON FURNISHED, CON	WITHOUT NICATION TRACTOR	Material		generated Mate Adjustmen overridding Payme	offsets the original rial Payment Estim t (0006) due to use ent Estimate Excep current Payment E	r mcclab tion 5 on	2	\$4,290.00	0 \$8,580.00
JNE0015	0140	TRUCK OF MOUNTED ATT	R TRAILER ENUATOR (TMA)	MaterialCredit					2	\$1,000.00	\$2,000.00
	0140	TRUCK OF MOUNTED ATT	R TRAILER ENUATOR (TMA)	Material					-2	\$1,000.00) (\$2,000.00)
	0200	4 IN. WHITE S WATERBORNE P MARKING PAIN	AVEMENT	Other Item Adjustment	Retroreflectivity Adjustment						\$1,628.64
	0210	4 IN. YELLOW S WATERBORNE P MARKING PAIN	AVEMENT	Other Item Adjustment	Retroreflectivity Adjustment						\$1,358.55
Total											\$2,987.19



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					Contract Project Information
Project Number	Federal Proj. Number	Project Description	Route	County	Location of Work
JNE0014	FAF 79-1(85)	Seal coat	79	PIKE	from 0.9 mile south of Route 54 east junction in Louisiana to Lincoln County line
JNE0015	FAS S203(16)	Seal coat	В	PIKE	from Route 61 near Frankford to Route 79

Totals by Job Numbers

14	This Estimate	Previous	To Date
Posted Item Pay	\$680,238.58	\$0.00	\$680,238.58
Gross Item Adjustments	\$0.00	\$0.00	\$0.00
Gross Item Pay	\$680,238.58	\$0.00	\$680,238.58
Incentive	\$0.00	\$0.00	\$0.00
Disincentive	\$0.00	\$0.00	\$0.00
Liquidated Damages	\$0.00	\$0.00	\$0.00
Other Contract Adjustments	\$0.00	\$0.00	\$0.00
015	This Estimate	Previous	To Date
Posted Item Pay	\$0.00	\$186,058.54	\$186,058.54
Gross Item Adjustments	\$2,987.19	(\$4,987.19)	(\$2,000.00)
Gross Item Adjustments Gross Item Pay	\$2,987.19 \$2,987.19	(\$4,987.19) \$181,071.35	(\$2,000.00) \$184,058.54
Gross Item Pay	\$2,987.19	\$181,071.35	\$184,058.54
Gross Item Pay	\$2,987.19 \$0.00	\$181,071.35 \$0.00	\$184,058.54 \$0.00
Gross Item Pay Incentive Disincentive	\$2,987.19 \$0.00 \$0.00	\$181,071.35 \$0.00 \$0.00	\$184,058.54 \$0.00 \$0.00
Gross Item Pay	\$2,987.19 \$0.00	\$181,071.35 \$0.00	\$184,058.54 \$0.00



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project JNE0014, Item 4091048, Project Item Line Number 0010, Material Set 409104896, Material 1015EACRS2P - Emulsified Asphalt CRS-2P, Acceptance Action Generic AspEmulsion is insufficient.	Certification on file report not done.	mcclab	Overridden
Estimate Exception Type: Insufficient Materials: Project JNE0014, Item 4094012, Project Item Line Number 0020, Material Set 409401296, Material 1003GB2 - Aggregate for Seal Coat Grade B2, Acceptance Action Generic 1003GB2 is insufficient.	Certification on file report not done.	mcclab	Overridden
Estimate Exception Type: Insufficient Materials: Project JNE0015, Item 6123000A, Project Item Line Number 0140, Material Set 6123000A96, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	waiting for Certification	mcclab	Acknowledged
Estimate Exception Type: Insufficient Materials: Project JNE0014, Item 6161005, Project Item Line Number 0040, Material Set 616100596, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	Certification on file report not done.	mcclab	Overridden
Estimate Exception Type: Insufficient Materials: Project JNE0014, Item 6161098A, Project Item Line Number 0060, Material Set 6161098A96, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	Still need Certification	mcclab	Overridden

Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
15-B05	JNE0014	0001	0010	4091048	EMULSIFIED ASPHALT, SEAL COAT	108,200.00	0.00	108,200.00	GAL	89,127.40	\$3.15	\$280,751.3
		0001	0020	4094012	SEAL COAT AGGREGATE, GRADE B2	386,416.00	0.00	386,416.00	SQYD	318,322.00	\$1.07	\$340,604.54
		0001	0030	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	0.00	\$1,000.00	\$0.00
		0001	0040	6161005	CONSTRUCTION SIGNS	1,676.00	0.00	1,676.00	SQFT	881.50	\$7.15	\$6,302.72
		0001	0050	6161025	CHANNELIZER (TRIM LINE)	100.00	0.00	100.00	EA	0.00	\$8.80	\$0.00
		0001	0060	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	2.00	0.00	2.00	EA	2.00	\$4,290.00	\$8,580.00
		0001	0070	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$44,000.00	\$44,000.00
		0001	0080	6200032	PLURAL COMPONENT LIQUID PAVEMENT MARKING, R/R CROSSING MARKER	5.00	0.00	5.00	EA	0.00	\$1,320.00	\$0.00
		0001	0090	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	221,670.00	0.00	221,670.00	LF	0.00	\$0.13	\$0.0
		0001	0100	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	121,993.00	0.00	121,993.00	LF	0.00	\$0.13	\$0.0
		0001	0110	6209902	MISC.PLURAL COMPONENT LIQUID PAVEMENT MARKING, BICYCLE SYMBOL	16.00	0.00	16.00	EA	0.00	\$440.00	\$0.0
	Project JN	IE0014 - To	otal Value	Posted to D	ate as of Report Generated Date							\$680,238.5
	JNE0015	0001	0120	4091048	EMULSIFIED ASPHALT, SEAL COAT	21,501.00	0.00	21,501.00	GAL	21,501.00	\$3.15	\$67,728.1
		0001	0130	4094002	SEAL COAT AGGREGATE, GRADE A2	76,789.00	0.00	76,789.00	SQYD	76,789.00	\$1.00	\$76,789.0
		0001	0140	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	2.00	\$1,000.00	\$2,000.0
		0001	0150	6161005	CONSTRUCTION SIGNS	952.00	0.00	952.00	SQFT	40.76	\$7.15	\$291.4
		0001	0160	6161025	CHANNELIZER (TRIM LINE)	100.00	0.00	100.00	EA	0.00	\$8.80	\$0.0
		0001	0170	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$23,500.00	\$23,500.0
		0001	0180	6200002	PLURAL COMPONENT LIQUID PAVEMENT MARKING, 4 IN., WHITE	65.00	0.00	65.00	LF	65.00	\$6.60	\$429.0
		0001	0190	6200014	PLURAL COMPONENT LIQUID PAVEMENT MARKING, 24 IN. WHITE	14.00	0.00	14.00	LF	14.00	\$27.50	\$385.0
		0001	0200	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	62,640.00	0.00	62,640.00	LF	62,640.00	\$0.13	\$8,143.2
		0001	0210	6206001C	4 IN, YELLOW STANDARD WATERBORNE PAVEMENT 52,252.00 0.00 52,252.00 LF MARKING PAINT, TYPE P BEADS					52,252.00	\$0.13	\$6,792.7
	Project JN	IE0015 - To	otal Value	Posted to D	ate as of Report Generated Date							\$186,058.5
		Value Deed			rt Generated Date							\$866,297.12



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail. location and quantity of work.

Line umber	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/Log Mile	Offset/ Distance	To Station/Log Mile	Offset/ Distance	Comments
0010	4091048	EMULSIFIED ASPHALT, SEAL COAT	8/13/24	8/15/24	33,452.30	GAL	NBL LM 55.332 to 48.712 and SBL LM 55.332 to 48.632	55.332		48.632/48.712		
			8/14/24	8/15/24	24,359.10	GAL		48.632/48.712		43.77/43.77		
			8/15/24	8/16/24	31,316.00	GAL		43.77/43.77		37.918/37.937		
0020	4094012	SEAL COAT AGGREGATE, GRADE B2	8/13/24	8/15/24	119,472.34	SQYD	NBL LM 55.332 to 48.712 and SBL LM 55.332 to 48.632	55.332		48.632/48.712		
			8/14/24	8/15/24	86,996.86	SQYD		48.712/48.632		43.77/43.77		
			8/15/24	8/16/24	111,852.80	SQYD		43.77/37.918		43.77/37.937		
0040	6161005	CONSTRUCTION SIGNS	8/12/24	8/15/24	60.00	SQFT	G020-1 LM 34.098, Const-8 LM 34.192, G020-2 LM 34.098, G020-1 LM 55.521, Const-8 LM 55.427, and G020-2 LM 55.521	34.098		55.521		
			8/13/24	8/15/24	229.00	SQFT	NBL LM 55.332 to 48.712 and SBL LM 55.332 to 48.632	55.296		49.250		
			8/14/24	8/15/24	186.00	SQFT		44.300		48.288		
			8/15/24	8/16/24	406.50	SQFT	4 sets of work zone signs, 12 of W08-7a, 6 of W08-12, 1 of G020-4, and 4 of W020-4.	43.301		37.920		
0060	6161098A	CMS W/O COMMUNICATION INTERFACE, CONT F/	8/6/24	8/9/24	2.00	EA	LM 33.994 Rt. Side LM 55.635 Lt. Side	LM 33.994 Rt. Side		LM 55.635 Lt. Side		
0070	6181000	MOBILIZATION	8/15/24	8/16/24	1.00	LS		34.287		55.332		

The information below this line are details for Construction Signs (if applicable). No Data Available



Line Item Adjustments by Estimate

Aug 20, 2024

Contract ID: 230915-B05

Droiget	Line	Description	A diu stan a mt	Other	Eat	Created	Created	Amount	Demosive
Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
JNE0014	0010	EMULSIFIED ASPHALT, SEAL COAT	Material		3	Aug 16, 2024	SYSTEM	\$280,751.31	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user mcclab overridding Payment Estimate Exception 1 on the current Payment Estimate.
					3	Aug 16, 2024	SYSTEM	(\$280,751.31)	
				- Total				\$0.00	
			Material - Tota					\$0.00	
	0010 -	Total						\$0.00	
	0020	SEAL COAT AGGREGATE, GRADE B2	Material		3	Aug 16, 2024	SYSTEM	\$340,604.54	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user modab overridding Payment
		GRADE DZ			3	Aug 16, 2024	SYSTEM	(\$340,604.54)	Estimate Exception 2 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tota					\$0.00	
			Waterial - Tota						
	0020 -	Total						\$0.00	
	0040	CONSTRUCTION SIGNS	Material		3	Aug 16, 2024	SYSTEM	\$6,302.72	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user mcclab overridding Payment Estimate Exception 4 on the current Payment Estimate.
					3	Aug 16, 2024	SYSTEM	(\$6,302.72)	
				- Total				\$0.00	
			Material - Tota					\$0.00	
	0040 -	Total						\$0.00	
	0060	060 CMS W/O COMMUNICATION INTERFACE, CONT F/	Material		3	Aug 16, 2024	SYSTEM	\$8,580.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user mcclab overridding Payment Estimate Exception 5 on the current Payment Estimate.
					3	Aug 16, 2024	SYSTEM	(\$8,580.00)	
				- Total		1		\$0.00	
			Material - Tota					\$0.00	
	0060 -	Total						\$0.00	
JNE0014 -									
								\$0.00	
JNE0015	0140	TRUCK OR TRAILER MOUNTED ATTEN	Material		2	Aug 2, 2024 Aug 16,	SYSTEM	(\$2,000.00)	
		(TMA)			0	2024	0101LIII	(\$2,000.00)	
				- Total				(\$4,000.00)	
			Material - Tota					(\$4,000.00)	
			MaterialCredit		3	Aug 16, 2024	SYSTEM	\$2,000.00	
				- Total				\$2,000.00	
			MaterialCredit	- Total				\$2,000.00	
	0140 -	Total						(\$2,000.00)	
	0200	4 IN. WHITE WATERBORNE	Other Item Adjustment	REFL	2	Aug 2, 2024	mcclab	(\$1,628.64)	holding 20% until acceptance of Retroreflectivity results.
		PAVEMENT MARKING			3	Aug 16, 2024	mcclab	\$1,628.64	
				REFL - Tota				\$0.00	
			Other Item Adj	ustment - To	tal			\$0.00	
	0200 -	Total						\$0.00	
	0210	4 IN. YELLOW WATERBORNE PAVEMENT	Other Item Adjustment	REFL	2	Aug 2, 2024	mcclab	(\$1,358.55)	holding 20% until acceptance of Retroreflectivity results.
		MARKING			3	Aug 16, 2024	mcclab	\$1,358.55	
				REFL - Tota				\$0.00	
			Other Item Adjustment - Total					\$0.00	
	0210 -	Total						\$0.00	
JNE0015 -									
-3NE0013 -	Total							(\$2,000.00)	



Line Item Adjustments by Estimate

Contract ID: 230915-B05

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
Overall -	Total					(\$2,000.00)			



There are no contract adjustments to display for this contract.